Fluency 15 6th Jan.notebook January 05, 2021

Fluency Fifteen (6121 ]

Place Value

1.
2.
3.

0o N O O,

9.

What is the value of the underlined digit? 6972

What is the value of the 8 in 28457

Use the symbols < > or = to make this correct.
4 X6 3x7

. Put these lengths in ascending order:

5mm 50mm 15mm 7mm 53mm

. What is 700 less than 14007?
. Round 6432 to the nearest ten
. Round 287 to the nearest hundred

. What number is the arrow pointing to?
g‘ 1000

0 | |

Complete the sequence: 125, 100, _, 50,

10. Write down an even number between 1340 and 1350
11. Write the number 6231 in words

12. Write XIV in digits

13. Calculate 5486 - 2143

14. Find 239 more than 1240

15. 3462 + 5391 =
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